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Suppose that the change in the value of a portfolio over a one-day time period is normal with a
mean of zero and a standard deviation of $4 million, what is (a) the one-day 97.5% VaR, (b) the

five-day 97.5% VaR, and (c) the ten-day 99% VaR? (hint: N-1(97.5%)=1.96, N-1(99%)=2.33)
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Companies AAA and BBB have been offered the following rates per annum on a $5 million

10-year investment:

Fixed Rate Floating Rate
Company AAA 8.0% LIBOR
Company BBB 8.8% LIBOR

Company AAA requires a fixed-rate investment; company BBB requires a floating-rate
investment. Design a swap that

(1) will net a bank, acting as intermediary, 0.2% per annum, and [5 4 ]

(2) will appear equally attractive to AAAand BBB. [10 ~ ]
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The data from last year in a small bank shows that branch A had 18 bad debts out of 120 loans
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and branch B had 12 bad debts out of 150 loans.
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(1) What is the test statistics for testing the equality of the bad debt rates between two

branches? [7 %4 ]

(2) Find the 95% confidence interval for the difference of the bad debt rates between two

branches. [8 4 ]
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